MDS

Primeiro semestre 2016/2017
Quiz 4
21/11/2016

(code: 1420)
SOLUTIONS

1 - Consider the following Interaction Diagram (Sequence Diagram):

A

m
™
w
m
M

Which of the following message sequences is correct:

a—c—b—d
b—c—a—d
d—a—b—c
a—b—d—c
None of the above

2 - Consider the following Sequence Diagrams:

B £ :D E

|

Which of the following message sequences is incorrect:

mooO®m>

a—)b—>c—>d—)e—>f—>g—>h
C—>a—>d—>b—>e—>f—>g—>h
a—)b—)(:—»e—)d—)f—)g—)h
a—)b—)c—)d—)e—)f—)h—)g

None of the above



3- consider the following Interaction Diagram (Sequence Diagram):

A B =
Iu:n:u|:;lf1..2]a,’:_..] i i
| | b
! ! |
i | ¢ |
| =4

Which of the following sequences is correct?
AL a—b—c—a—b

a—b—a—>b—c

C

a—b—c—a—b—c

mooOw

None of the above

4- consider the following Interaction Diagram (Sequence Diagram):

al:A||b1:B| |a2:A| |b2:B| | cl:C

y(456)

___ij__________

Which operation does class C have according to the diagram?

z():void
y(int):void
y():void
z():int
y():int

moo®z



MDS

Primeiro semestre 2016/2017

Quiz 4

21/11/2016

(code: 1420)

1 - Consider the following Interaction Diagram (Sequence Diagram):

A B C D o :F
stricta/ I i i i i
O ey, O, IR S — s
critical 4 I I I I
| b | | | | |
— I ¢ |1 | |
| | —— | |
B RS == Fo————- T it 4---]
I I I I Iod 1
i | i | =
i | i i ' '

Which of the following message sequences is correct:

mooO®x

a—c—b—d
b—c—a—d
d—a—b—c
a—b—d—c

None of the above

2 - Consider the following Sequence Diagrams:

B 8 :D

:E

C

—

Which of the following message sequences is incorrect:

moo®»

a—)b—>c—>d—)e—>f—>g—>h

C—>a—>d—>b—>e—>f—>g—>h

a—)b—>c—>e—>d—>f—>g—>h

a—)b—>c—>d—>e—>f—>h—>g

None of the above



3- consider the following Interaction Diagram (Sequence Diagram):

A

loopi1.2),/]..]

4 &
A

a
: : b |
! ! d
| | ¢ |
| ———

Which of the following sequences is correct?

a—b—c—a—b
a—b—a—b—c
C

a—b—c—a—>b—c

moo®rx

None of the above

4- consider the following Interaction Diagram (Sequence Diagram):

al:A| |b1:B| |a2:Al| |b2:B| | c1:C
g 1 b 0
| - i I | |
bl
| ! X! o |
| . _jx-abc’| |
| | | | 7
| | I | =
| | I Y00

Which operation does class C have according to the diagram?(choose the correct one)

z():void
y(int):void
y():void
z():int
y():int

mooO®x



MDS

Primeiro semestre 2016/2017
Quiz 4
21/11/2016

(code: 2420)
SOLUTIONS

1 - Consider the following Interaction Diagram (Sequence Diagram):

A B :C D :E :F
stricta/ I I I I I
P e, A, IR S — i
critical 4 l l l l

| b | | | I I

—— I ¢ | | [

| | — | |
e e e S o i s

I I I I Iod

| ! | ! ’

i | i | ' '

Which of the following message sequences is correct:
A. b—=c—a—d

d—a—b—c

a—c—b—d

a—b—d—c

None of the above

moow

2 - Consider the following Sequence Diagrams:
A :B :C :D :E

| | | |
I a | L
— -
— | |
L oo =l
| | ——
| —d
——

|
K—e=—|
| I F
| —
|

|

|

|

9

|
|
|
|
|
|

b .

Which of the following message sequences is incorrect:
AL cPa—>d—b—e—>f—g—h

B. a@b—>c—e—>d—>f—>g—h
C a@b—>d—>c—e—>f—g—h
D. a@b—>c—>d—e—>f—>g—h

m

None of the above



3- Consider the following Interaction Diagram (Sequence Diagram):

A B =
Il:n:u|:;f.1..2]a/' -] i i
| | b
| ! |
i | ¢ |
| A

Which of the following sequences is correct?
A. C

a—2b—a—b—c

a—b—c—a—b—c

a—b—c—a—b

moow

None of the above

4- Consider the following Interaction Diagram (Sequence Diagram):

al:A|l [b1B| |aZ:A| [b2:B| | c1:C
| | i | |
PR B
| IM’LI | |
| U xl |
L ____Ixabcl
| | | | 7
e
L e

[

Which operation does class C have according to the diagram?

z():void
y(int):void
y():void
z():int
y():int

moo®z



MDS
Primeiro semestre 2016/2017
Quiz 4
21/11/2016

(code: 2420)

1 - Consider the following Interaction Diagram (Sequence Diagram):

B
=
M
o
m
s

: ' : :
| | | |
| | | |
| | | |
P e azssozd o Jleoaes TS oz
critical ! ! ! |
| | | | |
T « T | [ | |
E— I e | [ [
| [ — | |
e e fesorass Fooooose G P fra 4---]
I I I I I d |
| | | |
I | I |
| | | |

Which of the following message sequences is correct:
A. b—2c—a—d
B. d—a—b—c

a—c—b—d

a—b—d—c

None of the above

moo

2 - Consider the following Sequence Diagrams:
A :B 4 ‘B :E

3

=

{1

BT

I'N

h

_______x_____z_
]

Which of the following message sequences is incorrect:

C—>a—>d—>b—)e—>f—>g—>h
a—)b—>c—>e—>d—)f—>g—>h
a—»b—»d—>c—>e—>f—>g—>h

a—)b—>c—>d—>e—>f—>g—>h

mooO®m>

None of the above



3- Consider the following Interaction Diagram (Sequence Diagram):

A
loop(1..2),/[..]
| 4

I b

—-} &
———11 th

I

C
3

Which of the following sequences is correct?
A C

a—b—a—b—c

a—b—c—a—b—oc

a—b—c—a—b

Mmoo ®

None of the above

4- Consider the following Interaction Diagram (Sequence Diagram):

Which operation does class C have according to the diagram (choose the correct one)?

z():void
y(int):void
y():void
z():int
y():int

mooO®mx



MDS

Primeiro semestre 2016/2017
Quiz 4
29/11/2016

(code: 3410)
SOLUTIONS

1 - Consider the following Interaction Diagram (Sequence Diagram):

(A ][8][c][o][:][+]

par/

i
|
|
|
|
e LA [ T LR e i B L]
|
|
|
|
|
|
|
|

1 | | I%

Which of the following message sequences is incorrect:

A.

moow

c—a—>b—od—e
c—>d—e—a—b
a—b—>c—>d—e—a—b
a—c—d—e—b

a—c—>d—b—e

Which of the following message sequences is incorrect:

mooO®2

a—)b—>c—>d—>e—>f—>g—>h
a—)b—>e—>c—>f—>d—>g—>h
a—)b—>c—>e—>d—>g—>f—>h
b—)a—>c—>d—>e—>f—>g—>h

None of the above



3- consider the following Interaction Diagram (Sequence Diagram):

| | | I I

ar i | | | |

p |/ | | | | |

strict / : ' ' I I

a | | | |

| — | | |
S AETE pommmee e fommmee i-

| | | I b | |

i i i — |

e e e o o e [y p gy b

critical / l l I I

[ [ [ | |

b € | | |

[ od sl I I

| i i

[ —& 5

T

.a—>c—>d—b—e

. c—a—>e—>d—b

.c—>d—a—e—b

|

|

|

|

|

ic

A

B

C. e2a—>b—c—d
D

E. c>d—a—b—e

4- consider the following Interaction Diagram (Sequence Diagram):

:

Which operation does class B have according to the diagram?

x():void
x(String):void
y():int
y(int):void
y():void

moono®z



MDS

Primeiro semestre 2016/2017
Quiz 4
29/11/2016

(code: 4450)
SOLUTIONS

1 - Consider the following Interaction Diagram (Sequence Diagram):

:A :B :C D :E

loop), /1] | ! ; !
| | | | |
- | | |
A I | I
| | | b | |
| | F—— |
| | | I ¢ |
I | | ! 2
i i Ll G i
| | 2 |

Which of the following message sequences is incorrect:
AL a—mb—>c—>b—a—>c—d

»

B. b»>c—a—a—b—c—d
C. a—mb—c—d
D. b—a—c—d
E. None of the above

2_
A ‘B . :D £
F | | |
| | | | |
1 Lby
. —
| |

I I
d 4
I I

Which of the following message sequences is incorrect:

b—a—d—c
b—d—a—c
d—a—>b—c
b—c—a—d
None of the above

moo®»



3- consider the following Interaction Diagram (Sequence Diagram):

: i i i i i
ar i | | | |
p |/_/ | | | | |
strict / : ] : ! !
a | |
| — | | |
Hoosors Yoomzaaiy pomommee e fommmee i-
| | | I b | |
i i i — |
JeE e o o e [y p gy b

critical I I I I
I c | | | |
| — | | |
[ [ - i I
| | | |
[ [ —& 5
I T

i

AL c—2d—a—e—b
B. c@d—a—b—e
C. a—mc—>d—b—e
D. c>a—e—>d—b
E

e—a—>b—c—d

4- consider the following Interaction Diagram (Sequence Diagram):

al:Al|la2:A||a3:A||b1:B||c1:C
| | | | |
Iox | | | |
2 | | |
| | —y | |
| | e | |
| | Iz | |
| | s |
| | -z |
| | | - |
| | T
| g | |
| SO SR | |

Which operation does class A have according to the diagram?

x():int
y():void
x():String
y(int):void
z():int

mooO®r



MDS

Primeiro semestre 2016/2017
Quiz 4
29/11/2016

(code: 3410)

1 - Consider the following Interaction Diagram (Sequence Diagram):

ENERESIENERES

par/

Which of the following message sequences is incorrect:

A.

Mmoo ®

c—a—>b—o>d—e
c—>d—e—a—b
a—b—c—>d—e—a—b
a—c—d—e—b

a—c—>d—b—e

Which of the following message sequences is incorrect:

mooO®x

a—)b—>c—>d—>e—>f—>g—>h
a—)b—>e—>c—)f—)d—>g—>h
a—)b—>c—>e—>d—>g—>f—>h
b—)a—>c—>d—>e—>f—>g—>h

None of the above



3- consider the following Interaction Diagram (Sequence Diagram):

: i i i i i
ar i | | | |
p |/_/ | | | | |
strict / : ] : ! !
a | |
| — | | |
———————— o
| | | I b | |
i i i — |
JeE e o o e [y p gy b

critical I I I I
I c | | | |
| — | | |
[ [ - i I
| | | |
[ [ —& 5
I T

i

AL a—c—>d—b—e
B. ca—e—d—b
C e2a—>b—c—d
D. c>d—a—e—b
E

c—>d—a—>b—e

4- consider the following Interaction Diagram (Sequence Diagram):

i

Which operation does class B have according to the diagram?

x():void
x(String):void
y():int
y(int):void
y():void

moono®»x



MDS

Primeiro semestre 2016/2017
Quiz 4
29/11/2016

(code: 4450)

1 - Consider the following Interaction Diagram (Sequence Diagram):

:A B C D :E

loop), /1] | ! ! !
| | | | |
L @ ]l | | |
A | | |
| | | b | |
| | F—— |
| | | I ¢ |
I | | ! 2
i i il i
| | ——3 |

Which of the following message sequences is incorrect:
AL a—b—>c—>b—a—>c—d

?

B. b»>c—a—a—b—c—d
C. a—@b—c—d
D. b—a—c—d
E. None of the above

2_
A ‘B . :D £
N | | |
| 3 | | |
1 Lby
. —
| |

I I
d 5
I I

Which of the following message sequences is incorrect:

b—a—>d—c
b—d—a—c
d—a—b—c
b—c—a—d
None of the above

moono®w»



3- consider the following Interaction Diagram (Sequence Diagram):

: i i i i i

ar i | | | |

p |/_/ | | | | |

strict / : ] : ! !

a | |

| — | | |
Hoosors Yoomzaaiy pomommee e fommmee i-

| | | I b | |

i i i — |

JeE e o o e [y p gy b

critical I I I I

I c | | | |

| — | | |

[ [ - i I

| | | |

[ [ —& 5

I T

i

AL c—2d—a—e—b
B. c@d—a—b—e
C. a—mc—>d—b—e
D. c>a—e—>d—b
E

e—a—>b—c—d

4- consider the following Interaction Diagram (Sequence Diagram):

al:A||a2:A||a3:Al|b1:B||c1:C
| | | | |
I ox | | | |
| e — | | |
| | —y | |
| | = | |
| | | =z | |
| | | |
| | |z |
| | | | "
| | %————EJE—A
| ose | |
| R | |

Which operation does class A have according to the diagram?

x():int
y():void
X():String
y(int):void
z():int

moo®zx



MDS

Primeiro semestre 2016/2017
Quiz 4
29/11/2016

(code: 5410)

1 - Consider the following Interaction Diagram (Sequence Diagram):

ENERNESIENESES

par/

Which of the following message sequences is incorrect:

A.

Mmoo ®

c—a—>b—o>d—e
c—>d—e—a—b
a—b—c—>d—e—a—b
a—c—d—e—b

a—c—>d—b—e

Which of the following message sequences is incorrect:

mooO®x

a—)b—>c—>d—>e—>f—>g—>h
a—)b—>e—>c—)f—)d—>g—>h
a—)b—>c—>e—>d—>g—>f—>h
b—)a—>c—>d—>e—>f—>g—>h

None of the above



3- consider the following Interaction Diagram (Sequence Diagram):

: i i i i i
ar i | | | |
p |/_/ | | | | |
strict / : ] : ! !
a | |
| — | | |
———————— o
| | | I b | |
i i i — |
JeE e o o e [y p gy b

critical I I I I
I c | | | |
| — | | |
[ [ - i I
| | | |
[ [ —& 5
I T

i

AL a—c—>d—b—e
B. c@a—e—d—b
C e2a—>b—c—d
D. c>d—a—e—b
E

c—>d—a—>b—e

4- consider the following Interaction Diagram (Sequence Diagram):

i

Which operation does class B have according to the diagram?

x():void
x(String):void
y():int
y(int):void
y():void

moono®rx



MDS

Primeiro semestre 2016/2017
Quiz 4
29/11/2016

(code: 6460)

1 - Consider the following Interaction Diagram (Sequence Diagram):

:A B C D :E

loop), /1] | ! ! !
| | | | |
L @ ]l | | |
A | | |
| | | b | |
| | F—— |
| | | I ¢ |
I | | ! 2
i i il i
| | ——3 |

Which of the following message sequences is incorrect:
AL a—b—>c—>b—a—>c—d

?

B. b»>c—a—a—>b—c—d
C. a—@b—c—d
D. b—a—c—d
E. None of the above

2_
A ‘B . :D £
N | | |
| 3 | | |
1 Lby
. —
| |

I I
d 5
I I

Which of the following message sequences is incorrect:

b—a—d—c
a—b—d—c
d—a—b—c
b—c—a—d
None of the above

moo®w»



3- consider the following Interaction Diagram (Sequence Diagram):

: i i i i i

ar i | | | |

p |/_/ | | | | |

strict / : ] : ! !

a | |

| — | | |
Hoosors Yoomzaaiy pomommee e fommmee i-

| | | I b | |

i i i — |

JeE e o o e [y p gy b

critical I I I I

I c | | | |

| — | | |

[ [ - i I

| | | |

[ [ —& 5

I T

i

AL c—>d—a—e—b
B. c@d—a—b—e
C. a—mc—>d—b—e
D. c>a—e—>d—b
E

e—a—>b—c—d

4- consider the following Interaction Diagram (Sequence Diagram):

al:A||a2:A||a3:Al|b1:B||c1:C
| | | | |
I ox | | | |
| e — | | |
| | —y | |
| | = | |
| | | =z | |
| | | |
| | |z |
| | | | "
| | %————EJE—A
| ose | |
| R | |

Which operation does class A have according to the diagram?

x():int
y():void
X():String
y(int):void
z():int

moo®»x



